Have a nice day
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Ref..Have a nice day,— do-:: — oh oh oh
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Ref.: Have a nice day,—— doo doo,— oh oh bi dum dum
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! Have a nice day, you need - n't wor - ry.
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dum, have— a nice day, oh oh oh—— oh oh, bi dum dum
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Have a nice day move in your world of phan-ta - sy!
Have a nice day move in your world cnf phan-ta -  sy!
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Have a nice day, you need- n't wor - ry.
Have a nice day, oh oh oh oh oh
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sy, have_ a nice day, —. oh oh oh— oh oh, bi dum dum
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Is- nt it fine, its made fo you and me
oh oh oh n you and rn;.
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have anice  day, its made for you and me.
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1.Sum- mer - time,— win-ter - time, on bad and rai- ny—  days,
2. Feel - ing good, — in the mood,
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You and me just an - ¥y time, it's made for
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sum- mer, win-ter a-ny— time,. can't you hear the voice, that says to you and
) S M1
. . D
=i F e
you and me, there is a  voice!
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me: me. Move in your world of phan - - SY, have— a nice
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day! Have a nice day, it's made for you and me.
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